Cantonese ll
eek 7

i e
X
4
& w0
oy %
- k i 1
- T - '
= o
1 ke T



Translate the following into Cantonese using the adverbs of time.
| go to school 4 times per week

| originally wanted to study English but now | study Chinese

| just had dinner

| go to work immediately after school

| go to school every day

| usually wake up at 7am
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keoi5 go2 zan6 si4 zung6 hai2 jil jyun2 '
ngo5 zikl hakl heoi3 jingl gwok3 taam3 nei5
ngo5 daib ji6 si4 heoi3 jingl gwok3 taam3 nei5

jid gaal gaml jat6
ji5 cin4 bun2 loi4

Kam4/cam4 jat6




zik1 hak1 dai6 (ji6) si4

tingl jat6 hau6 jat6

ngo5 deib ji4 gaal ceotl heoi3

keoi5 ngaam1 ngaam1 zau2 zo2

bun2 loi4 ngo5 soeng2 duké jil fol
tau4 sinl keoi5 m4 gei3 dak1 daai3 so2 si4




Sing4/ seng4 jaté

dol sou3
jaus (zan6) si4

jatlsi4 si4
tungl soeng4

ping4 si4

mui5 ci3

mui5 jat6

mui5 nin4
mui5 ziul

mui5 maan5




Ask: How often do you

Answer with with frequency we just learnt

InG)  sid
jatl si4 si4

jatlci3

tungl soengd

l&oi hang
tiu mou’
jing soeng
sdeng mdng

AT (travel)
B (dance)

¥ 48 (raking photographs)
L # (surfon the Internet)

°a K (sing Karaoke)

& (play guitar)

B (watch movies)
iT#  (play video game)
E  (read books)

f1i#&  (play ball games) |

Jau4 seoi?2
7K

swimming
Zoub gym
fizgym

Go to the gym

Gin6 sanl

ey

|

Go to the gym

Zyu? je5 sik6
ABR
Cooking

Haang4 saanl
1T

Hiking

Caai2 daanlcel

PREEH
Cycling

Tengl jam1 ngok6
T8

Listen to music



sai3 gwo3 ngo5

baat3 lau2 hou2 gwo3 ji6 lau2

nil deoi3 gwai3 gwo3 go2 deoi3

Jenny sai3 dil
baat3 lau2 hou?2 dil

go2 deoi3 gwai3 dil




nei5 lek1l gwo3 keoi5 hou2 dol
keoi5 goul gwo3 neib siu2 siu2

ngo5 daaib gwo3 keoi5 jatl nind

nil go3 cung5 dil nil go3 cung5 gei2 pui5




gam1 ci3 zungb hou2 gwo3 soengb ci3

gam2 joeng2 zung6 hou2 dil




Make the following comparisons more explicit using the adverb
given in brackets:

This year is (much) colder [dung37#] than last year

It’s (much) warmer [nyun5 #%] today

Your hair is (a little) shorter [dyun2%5] now

Hong Kong is (several times) more expensive than here
I’'m (even) more tired [gui6 ¥ ] than she is

Eating rice is (even) cheaper than eating noodles

She is (5cm lei4 mai5 & >k) taller than me

My elder brother is (20 pounds bong6f3%) heavier than me

O NOUAWNE



Tell us:
What you planned to do last year but couldn’t do.
What activities do you like to do? How often you do them?

Compare yourself with your family member/ friend



keoi5 bei2 zo2 jatl baak3 manl ngo5

bei2 ganl coi3 ngo5 aal

ngo5 bei2 zo2 tiud so2 si4 ngob5 taai3 taai2 F Elp (AL aEEp
nei5 bei2 dil min2 keoi5 laal




ngo5 pang4 jau5 gei3 zo2 zoengl kaatl bei2 ngo5 |

ngo>5 ji5 gingl waan4 zo2 cin2 bei2 nei5 | FX
keoi5 lou5 gungl lau4 zo2 gaanl ukl bei2 keoi5

dil tung4 si6 sung3 zo2 dil faal bei2 keoi5




keoi5 nin4 nin4 sung3 saangl jat6 lai5 mat6 bei2 ngo5 go3

nil zek3 gaai3 zi2 sung3 bei2 nei5 ge3

keoi5 wui5 gei3 dil man4 gin2 bei2 nei5 cim1 meng2

go3 hok6 saangl lo2 zo2 pinl man4 zoengl bei2 ngo5 tai2

keoi5 jiu3 zyu2 faan6 bei2 ukl kei5 jan4 sik6



lou5 sil bei2 ngo5 dei6 zou2 dil zau2

ngo5 bei2 nei5 jungb ngo5 boub din6 nou5

m4 hou2 bei2 jan4 zil aa3




Translate the following into Cantonese

. | have to pay (money)

. You need to return some books.

| want to give a present (lai5 mat6 =%J) to my mom.

| gave my book to my friend to read.

| have to submit (gaaulsZ) homework (gungl fo3Zhif) to the teacher
The teacher gave a lot of homework to us.

| will return some documents (man4 gin2 3 {4) to you

Grandma always gives presents to me

. Itis not allowed to eat (sik6 je5 = MF) inthe library (tou4 syul gun2
10. Kids are not allowed to drink alcohol ( jam2 zau2 #Xi#) .
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nei5 jau5 mou4 sik6 gwo3 gong?2 sikl sail caanl aa3?
nei5 heoi3 gwo3 taai3 hungl gun2 mei6 aa3?

cang4 gingl

keoi5 cang4 gingl oi3 gwo3 ngo5
ngo5 mei6 jam2 gwo3 nil zek3 zau2




ngo5 tai2 gwo3 saam1l go3 jil sangl

ngo5 tai2 zo2 saam1 go3 jil sangl




keoi5 se2 zo2 jatl pinl man4 S (just) written an .
keoi5 se2 gwo3 jatl pinl man4

ngo5 wan2 zo2 nei5 gei2 ci3
ngo5 wan2 gwo3 nei5 gei2 ci3

ngo5 maai5 zo2 nil zek3 paaid zi2 Fg B IENEE
ngo5 maai5 gwo3 nil zek3 paai4 zi2 = R R A

keoi5 heoi3 zo2 geil coengd
keoi5 heoi3 gwo3 geil coeng4




nei5 sikl zo2 dangl mei6 aa3

nei5 si3 gwo3 nil zung2 hoengl seoi2 mei6 aa3

nei5 cungl zo2 loeng4 mei6 aa3
cungl zo2 laa3/ mei6 aa3

nei5 si3 gwo3 nil dil mei6 aa3

si3 gwo3 laa3/ mei6 aa3




Negating 2 I/i: and gwo 05

an action, z02 WE is not compatible with |

Because it suggests completion of
02 g is mous 7 (have not) or meih

negation. The negative counterpart of
7 (not yet):

F keoi5 jingl sing4 zo2 ngo5 | {E ATk He (has) promised me.
F keoi5 moud jingl sing4 ngos h {EA7ERE He didn’t promise me.
N ngo5 dei6 sik6 202 faane et FEHEEN We'’ve had our dinner.
N ngo5 dei6 mei6 sik6 faans I & We haven’t had dinner yet.

Unlike jé 2, gwo i can be negated either with méuh 77 or meih R

ngo5 mou4 saul gwo3 nei5 gei3 cin2 1 I have not received your

ST OB eSS NGt
keoi5 mei6 zou6 gwo3 sau2 seot6 ht She has not yet had an

{E AR s i operation.




Translate the following into Cantonese using zo2 or gwo3.

I've met (gin3 J1.) his family (ukl kei5 jan4 =1 N ) before

've just washed my hair (sai2 taud ¥GEH) .

He had breakfast (zou2 caanl F-4&) this morning (ziul &)

I've heard (tengl ¥%) thissong (sau2 gol E k) before

I’'ve been to Hong Kong once

She’s won the first prize

He hasn’t bought (maai5 &) anewcar (sanlcel #FH.) before
| just sold (&) the car

O NOUEWN R



keoi5 deib git3 zo2 fanl
keoi5 dei6 mou4 git3 fanl

[ keoi5 deib meib6 git3 fanl an B A< S 1E

dil hok6 saangl zau2 zo2

ngo5 go3 zai2 heoi3 gwo3 jingl gwok3

keoi5 102 zo2 cel paai4

ngo5 dei6 zoub gwo3 zing3 fu2 gungl




5 ngoS dengb 202 fongz
HATE R

6 go3 bei3 syul fong3 zo2 gaa3
A E e R

7 ngo5 jam2 gwo3 cingl dou2 bel zau2 u
T BB 7

R ngo5 tung4 keoi5 paak3 gwo3 tol 0-t0

HRHEH A8

O din6 fai3 gaal zo2 gaa3
B E

10 lou5 baan2 naau6 gwo3 keois Wih

% EhR{E

I’'ve reserved a room.

The secretary has taken a day off.

I’'ve drunk Tsingtao beer before.

I’ve been on a date with him.
Electricity costs have gone up.

The boss has scolded him before.



keoi5 mei6 si3 gwo3 ci4 dou3 = ji5 gingl

ngo5 dei6 heoi3 gwo3 nei5 ukl kei2 ngaaml ngaaml

ngo5 sinl saangl faanl zo2 se2 zi6 lau4 | cang4 gingl

keoi5 saangl zo2 go3 zai2 ji5 cind

ngo5 haau2 leoi6 gwo3 ci4 zikl zeoi3 ganb

gaanl zau2 lau4 saanl z02 mun4 cung4 loi4




Ask 3 questions using gwo



